Horst Alzer; Florian Luca Diophantine equations involving factorials

Mathematica Bohemica, Vol. 142 (2017), No. 2, 181-184

Persistent URL: http://dml.cz/dmlcz/146751

Terms of use:

© Institute of Mathematics AS CR, 2017

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ*: *The Czech Digital Mathematics Library* http://dml.cz

DIOPHANTINE EQUATIONS INVOLVING FACTORIALS

HORST ALZER, Waldbröl, FLORIAN LUCA, Johannesburg

Received July 29, 2015. First published December 5, 2016. Communicated by Dagmar Medková

Abstract. We study the Diophantine equations $(k!)^n - k^n = (n!)^k - n^k$ and $(k!)^n + k^n = (n!)^k + n^k$, where k and n are positive integers. We show that the first one holds if and only if k = n or (k, n) = (1, 2), (2, 1) and that the second one holds if and only if k = n.

Keywords: Diophantine equation; factorial

MSC 2010: 11D61

1. INTRODUCTION

The theory of Diophantine equations with its long and rich history has attracted the attention of numerous mathematicians, who published many books and research papers on this beautiful part of number theory. An introduction to Diophantine equations with interesting historical information can be found, for example, in the monographs [1] and [2].

In this note, we are concerned with two closely related Diophantine equations involving factorials. Our work has been motivated by an interesting result published by Carnal [3] in 2012. He offered a short and elegant treatment of

(1.1)
$$k^n \cdot n! = n^k \cdot k!, \quad k, n \in \mathbb{N}.$$

He proved that the relation (1.1) holds if and only if k = n or (k, n) = (1, 2), (2, 1). Here, we study the following two additive counterparts of (1.1):

$$(k!)^n - k^n = (n!)^k - n^k$$
 and $(k!)^n + k^n = (n!)^k + n^k$.

We present all positive integer solutions (k, n) of these equations.

DOI: 10.21136/MB.2016.0045-15

2. Our results

Theorem 2.1. Let n and k be positive integers. The equation

(2.1)
$$(k!)^n - k^n = (n!)^k - n^k$$

holds if and only if

$$k = n$$
 or $(k, n) = (1, 2), (2, 1).$

Proof. Obviously, if k = n or (k, n) = (1, 2), (2, 1) then (2.1) is valid. Next, we show that if (2.1) holds with k < n, then we obtain (k, n) = (1, 2). We distinguish three cases.

Case 1. k = 1. Then, (2.1) reduces to

$$0 = n! - n = n((n - 1)! - 1).$$

Since n > 1, we find n = 2.

Case 2. k = 2. Equation (2.1) yields

$$0 = (n!)^{2} - n^{2} = n(n! + n)((n - 1)! - 1),$$

which has no solution n > 2.

Case 3. $k \ge 3$. The sequences $\{(n!)^{1/n}\}_{n=1}^{\infty}$ and $\{-n^{1/n}\}_{n=3}^{\infty}$ are strictly increasing, so that we obtain for $n > k \ge 3$:

$$(n!)^k > (k!)^n$$
 and $-n^k > -k^n$.

Adding up the above inequalities gives

$$(n!)^k - n^k > (k!)^n - k^n.$$

The proof is complete.

Theorem 2.2. Let n and k be positive integers. The equation

(2.2)
$$(k!)^n + k^n = (n!)^k + n^k$$

holds if and only if n = k.

Proof. We show that (2.2) implies k = n. By symmetry, we may assume that $n \ge k$. We consider again three cases.

Case 1. k = 1. Then, (2.2) reads 2 = n! + n. This gives n = 1. Case 2. k = 2. We have

$$2^{n+1} = n^2(((n-1)!)^2 + 1).$$

It follows that $n = 2^a$ for some $a \ge 1$. Then we obtain

$$2^{n+1-2a} = ((n-1)!)^2 + 1.$$

If $n \ge 3$, then $((n-1)!)^2$ is even so the right-hand side above is odd and greater than 1 whereas the left-hand side is either 1 or even. Therefore, n = 2.

Case 3. $k \ge 3$. Since

$$k^k \mid (k!)^n, \quad k^k \mid k^n \quad \text{and} \quad k^k \mid (n!)^k,$$

we conclude from (2.2) that $k^k | n^k$. This gives k | n. Let n = bk for some $b \ge 1$. We assume that $b \ge 2$. Since $\{n^{1/n}\}_{n=3}^{\infty}$ is strictly decreasing, we find $k^n - n^k > 0$. Thus,

$$k^{n} - n^{k} = (n!)^{k} - (k!)^{bk} > 0$$
, therefore $n! - (k!)^{b} \ge 1$.

It follows that

$$k^{bk} = k^n > k^n - n^k = (n! - (k!)^b) \sum_{j=0}^{k-1} (n!)^j \ (k!)^{b(k-j-1)} > (k!)^{b(k-1)}$$

This gives

$$k^k > (k!)^{k-1}$$
, so $k^{k/(k-1)} > k!$

But, this is false, since

$$k^{k/(k-1)} \leq k^{3/2} = k\sqrt{k} < k(k-1) \leq k!.$$

Thus, b = 1 and k = n.

 Remark . For more Diophantine equations involving factorials we refer to the research articles [4], [5], [6] and the references therein.

References

- [1] T. Andreescu, D. Andrica, I. Cucurezeanu: An Introduction to Diophantine Equations. A Problem-Based Approach. Birkhäuser, Basel, 2010.
- [2] I. G. Bashmakova: Diophantus and Diophantine Equations. The Dolciani Mathematical Expositions 20. The Mathematical Association of America, Washington, 1997.
- [3] H. Carnal: Aufgaben. Elem. Math. 67 (2012), 151–154.
- [4] *F. Luca*: The Diophantine equation R(x) = n! and a result of M. Overholt. Glas. Mat. (3) 37 (2002), 269–273.
- [5] F. Luca: On the Diophantine equation f(n) = u! + v!. Glas. Mat. (3) 48 (2013), 31–48.
- [6] J. Sándor: On some Diophantine equations involving the factorial of a number. Seminar Arghiriade. Univ. Timişoara 21 (1989), 4 pages.

Authors' addresses: Horst Alzer, Morsbacher Str. 10, 51545 Waldbröl, Germany, e-mail: h.alzer@gmx.de; Florian Luca, School of Mathematics, University of the Witwatersrand, Private Bag X3, Wits 2050, Johannesburg, South Africa, e-mail: florian.luca@wits.ac.za.